485584154637. 1
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485584154639. 3
485584154640. 4
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Question Number : 786 Question Id : 48558439616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Colour TV was introduced in India during ;
(1) Asian Games 1982

(2) Commonwealth Games 1956

(3 Asian Games 1984

(4) Commonwealth Games 19490

Options :

485584158461. 1
485584158462. 2
485584158463. 3

485584158464. 4
gses(t)ll(l)sne q’?lglebe&'zz%%lkeslq&% I%gsléﬁ%l}%%&ﬁ% Fﬁtéﬁ%x?ﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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T it A 5 e T fe g o7
(1) ufemEs i, 1982

(2) wigaey 9, 1986

(3) ufeE i, 1984

(4) =Ty i, 1990

Options :

485584158461. 1
485584158462. 2
485584158463. 3
485584158464. 4

Question Number : 787 Question Id : 48558439617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Which editing transibon generates an ettect wheremn, the shape, colours, contours ot the person or
object change within a shot.
(1} Freeze
(2} Morphing
(3) Dhssolve
(4 Wipe
Options :
485584158465. 1
485584158466. 2

485584158467. 3
485584158468. 4

Question Number : 787 Question Id : 48558439617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Form gorEs T daifa 3 g v & wiz | o =i T o a1 sl w wyE vela i
87

(1) T=m

(2) wRFEET UATHIE D Ewam H e A
(3) HAMA

(4) = " T = e

Options :

485584158465. 1
485584158466. 2

485584158467. 3
485584158468. 4

Question Number : 788 Question Id : 48558439618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 COI |egEd un ia§
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Question Key Details :

Key Value
Comprehension MCQ

Which media house rose to popularity due to sting ournalism 7
(1} India Tm.lu:.'
(2) Cutlook
(3) Tehelka
(4) Frontline
Options :
485584158469. 1

485584158470. 2
485584158471.3

485584158472. 4
nggf)irﬁ)sl:a ‘;‘;‘:E‘J’eﬂrlsﬁn%‘i?s[‘.‘&'}a IdNis@ﬁ%?ﬁ&%sl%'%ﬁﬂtc' lgmreﬁ é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Compretension MCQ

1A W i SO @ A W S g 7

-

(1) sfr=n g3

(2) AT
(3) HEe
(4) WhIEmEA
Options :

485584158469. 1
485584158470. 2

485584158471. 3
485584158472. 4

Question Number : 789 Question Id : 48558439619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Which among the followmng is NOT a news agency 7
(1) AFP
(Z) ABP
(3) DPA
(4y AP
Options :

485584158473. 1
485584158474. 2
485584158475. 3
485584158476. 4

Question Number : 789 Question Id : 48558439619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Key 'Value

Comprehension MCQ
Fr=fafas 8 @ fH-0 == et 76 2 7
(1) AFP
(2} ABP
(3) DPA
(4) AT

Options :

485584158473. 1
485584158474. 2
485584158475. 3
485584158476. 4

Question Number : 790 Question Id : 48558439620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKey |Value I
IL,Ulupl chension |MLQ I

The length of the Hlm exposed in a continous running of the camera at the time of shooting 15
called :

(1) Sequence

(2) Scene

(3) Shot

(4) WVisual

Options :

485584158477. 1

485584158478. 2

485584158479. 3
485584158480. 4

Question Number : 790 Question Id : 48558439620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value |
|C0mprehensi0n |MCQ |
N F i w0 w5 wfEe v usrde = feen 31 e el

(1}y H

(2) ¥4

(3) ¥

(4) fas=m
Options :

485584158477. 1
485584158478. 2

485584158479. 3
485584158480. 4

gseS(t)ll(l)sne q"'illlnnebef\l'lzgllh%llfs[tf&% Id[sfﬂéﬁ%ﬁ%&%%‘{?ﬁ%ﬁ“}fﬁ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details : collegedunias
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Key Value
Comprehension MCQ

Who 15 the author of the great essay

“The Evolution of Means of Human Thought and Expression’ 7
(1) Kashinath Wadwalkar

(2) Ithasacharya Vishwanath Kashinath Rapwade

(3) Itihasacharya Rajnath Kelkar

(4) Romula Thapar

Options :

485584158481. 1
485584158482. 2
485584158483. 3
485584158484. 4

Question Number : 791 Question Id : 48558439621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

ion Key Details :
Key |Value I
|C0mprehension |MCQ |
gfag fay T TErEA ATF 2 O AT SEe Uiy UUE UEHTE | BT i 6 7

(1) TS EIEC G E T

(2) EfoemrEm favEay ey T
(%) ST Ty e

(4)  TfEen g

Options :
485584158481. 1
485584158482. 2

485584158483. 3
485584158484. 4

(l%lseg(t)ll(l)sl:’, q,lljlrﬁlebe&.gs)lzh%lkesltl]&% I%g&ﬁﬁ%ﬁl%ézl%%ﬁtclgggﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which type/kind of journalism uses the marketing strategy tor local retail adverbsing and
segmentation of its readers o target neighbourhoods and suburbs ?

(1) Yellow Journalism

(2) Supplement Journalism

(3) Gonzo [ournalism

(4) Page 3 Journalism

Options :

485584158485. 1

485584158486. 2
485584158487. 3

485584158488. 4

gsegtt)iltl)sne %?n'?ebe&‘yfh%‘l?sﬂ&“e I%ﬁéﬁ%ﬁ%}%ﬁ%‘#ﬁﬁ%ﬁ&?ﬁ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : alculator : None .
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fom v it w3 st agan Faere 39 o o w0 e TEE S T F e
feromm ToriTa 0 W fn = 7

(1) =& AR
(2) AL A
(3y T T
(4 TS 3 THFI
Options :

485584158485. 1

485584158486. 2
485584158487. 3
485584158488. 4

Question Number : 793 Question Id : 48558439623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which tamous documentary maker said, "They wished that viewers might share the adventure
and despair of other men’s lives, and commiserate with the downtrodden and underprivileged”?
(1) Tare Lorentz
(2) Roy Stryker
(3) John Grierson
(4) A, William Blueni
Options :

485584158489. 1
485584158490. 2

485584158491. 3
485584158492. 4

Question Number : 793 Question Id : 48558439623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
oy wiag =Tadd fotm @ wus 2, ' 9 wed 4 T oo =0 gl & Sitas & owfos @ e o
HiEN &1 20 =fEd1 20 wfEal & \1y Hag-) 994 7

(1) YR A

(2) 3 A

(3) 1R A

(4) . faferEm =g

Options :
485584158489. 1

485584158490, 2 gco”egeduniaé
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485584158491. 3
485584158492. 4

Question Number : 794 Question Id : 48558439624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Compretension MCQ

15 4 process in which bwo or more advertisers of a product or service associate themselves
with each other to increase their profile to reach more people.
(1) Case Study
(2}  Cross Promobon
(3} Indirect Promotion
(4) Collaborative Promotion
Options :

485584158493. 1
485584158494. 2

485584158495. 3
485584158496. 4

Question Number : 794 Question Id : 48558439624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Vatue

Compretension MCQ

_ ww uiEew ¥ T e e i F F o sl s sifusnfier |6 e e F
Ferm 379 wrwree o faear & Toiu v 200 o WY gEidd 26 2

(1) = 39 (Case Study)

(2) 2= HELE

=,

(3) T HaEE
(4) TEATEHE HEHA

Options :

485584158493. 1
485584158494. 2
485584158495. 3
485584158496. 4

Question Number : 795 Question Id : 48558439625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
[L(ev |Value |
|C0mprehension |MCQ |

According o which contemporary thinker, Globalization, Regionalizaton and Democrabzation
are three mega trends that characterize our own era 7

(1) Amartya Sen

(2) Majid Tehranian

(3} Lippmann Walter

(4) Ewverett Rogers
Options ; g collegedunias
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485584158497. 1
485584158498. 2
485584158499. 3
485584158500. 4

Question Number : 795 Question Id : 48558439625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key |Value |
|Luulpu:nensi0n |1V1LQ |

ferg ouee faans & srar, Sy, sEEEn o st aam g afeeuafE e e
1 T wgfEai & 2

(1y 379 T4

(2) wfee FEataam
(3) Tom =wey

(4) TEE T
Options :

485584158497. 1

485584158498. 2
485584158499. 3
485584158500. 4

Question Number : 796 Question Id : 48558439626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

What is commonly used for compression of a photographic image 7

(1) JPEG

(2) GIF

(3) HTML

(4) UREL
Options :

485584158501. 1
485584158502. 2
485584158503. 3

485584158504. 4
gse[?(t)ll(l)sne lﬁl‘l‘ﬁ{‘é’efvﬂﬁl&‘lﬁ‘{&% I%gsgﬁ%%%{%ﬁl%ﬁﬁtclgggﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fdil R B & Witga F o wmr=rd: e v T o 8 7

(1) JPEG
(2) GIF
(3) HIML
(4) URL

collegedunias
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Options :
485584158501. 1

485584158502. 2
485584158503. 3
485584158504. 4

Question Number : 797 Question Id : 48558439627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A form of harassment inflicted through the use of eleckronic or communication devices s called ¢
(1} Cyberstalking
(2) Cyberbullying
(3) Cybergrooming
(4) Phishing
Options :
485584158505. 1

485584158506. 2
485584158507. 3

485584158508. 4
é‘s"ﬁ%‘ﬁ’s“e lalglnl?g)e&. Z?Fh(l)rﬂ(esltll&% ld[\fg%ﬁ%‘l‘%gﬁylgs%ﬁtclﬁggﬂ& é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Pt ZeiaeTvsn O HeE HIYE & W 0 70 I & e T e W6
(1) 3= F=ifdm
(2) HIFET qew

(3)  GEE g
(4) f#®M Phishing
Options :

485584158505. 1
485584158506. 2

485584158507. 3
485584158508. 4

Question Number : 798 Question Id : 48558439628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What type of radio programme is generally of 15 minutes duration, presents “5pot’ reports,
comments, nterviews and extracts from speeches 7

(1) Radio feature

(2) Radio drama

(3) MNews resels

(4) Radio Talks .
collegedunias
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upuons :

485584158509. 1
485584158510. 2
485584158511. 3
485584158512. 4

Question Number : 798 Question Id : 48558439628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ
15 e it -zt aw fom e wom o “arn' foe, feofrgl, e iR ol & 35w wega e wmd

B7
(1y I wE
(2) 3fE= g

(3) e
(4) fEH =6
Options :

485584158509. 1
485584158510. 2

485584158511. 3
485584158512. 4

Question Number : 799 Question Id : 48558439629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which amongst the following is not an example of Browser ?
(1)  Firefox

(1) Satari

(3) Chrome

(4) Gnome

Options :

485584158513. 1
485584158514.2
485584158515.3
485584158516. 4

Question Number : 799 Question Id : 48558439629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Kev |Value |
|C0mprehensi0n |MCQ |
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Fre=riefEa O 9 S9-m JEaT 3 SRR T R Y

(1)  TRIETFRIE
(2) Hwr
(3) M

(4) T
Options :

485584158513. 1

485584158514. 2
485584158515.3
485584158516. 4

Question Number : 800 Question Id : 48558439630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

.l

Fhatic, personal amd inbimate are stages of which type of communication |
(1) Mass Communication

(2) Intrapersonal Communication

(3 Interpersonal Communication

(4)  Group Communication

Options :

485584158517. 1
485584158518. 2
485584158519. 3

485584158520. 4

uestion q,umbe&:.gﬁlﬂh%lkes[tli&% I:dN.gsgf,843963OI%l#estign Tﬁl% é I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

esponse Time : inimum ruction
Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Vatue
Compretension MEQ

o Hey, =i @ g 59 5FE & 99 F1 aEem £
(1) ==Ear

(2) FanaafFs HJ9n

(3) fdSafers dan

(4) wnffes HaER

Options :
485584158517. 1

485584158518. 2
485584158519. 3
485584158520. 4

Question Number : 801 Question Id : 48558439631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value




|Comprehension MCQ

Ethnocentrism in cultural context refers to :
(1} Learning your own culture

(2) Understanding new culture

(3) Undermining other culture

(4) Transmission of culture

Options :
485584158521. 1
485584158522.2

485584158523. 3
485584158524. 4

Question Number : 801 Question Id : 48558439631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

aiekfaF ded 8 meaeata S sl g=hl = 8
(1) =T T2 F HEFA F1HE

(2) =2 ek & G

(3) 39 HEFI F S R

(4) Herfo = FETm

Options :

485584158521. 1
485584158522. 2
485584158523. 3
485584158524. 4

Question Number : 802 Question Id : 48558439632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Problems in cratbing messages, like use of imappropriate or sloppy word is called
(1) Complex noise
(2) Semantic nose
(3} Social noise
(4) Environment noise
Options :

485584158525. 1
485584158526. 2

485584158527. 3
485584158528. 4

Rgse&t)lr(l)s% %lllr?ebef\l'ﬁﬂlzh%lkesltll&% Idwﬂ@ﬁ%?ﬁ%%ﬁ%‘%ﬁﬁ%‘ﬁgfﬁ& ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Vaiue

Comprehension MCQ




Ham 40 14 © TR O 920 =S o WA Hi HUEN Faerl § |

(1) e 9R
(2) TR T
(3) =SS o
(4) AT AR
Options :

485584158525. 1
485584158526. 2
485584158527. 3

485584158528. 4

Question Number : 803 Question Id : 48558439633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

|!Qj;§§tign Key Details :
Key |Value I

lLomprenenswn |MLQ I

Arrange the following steps in sequence for planning documentabion for a websike :
(A} Intormation Structure

(B} Layout and Intertace

(C)} Intormation Architecture

(D) Storyboard using computer software

(E) Flanning number of pages

Choose the correct answer from the oplions given below ;
(1) (© (A) (D). (B)

(2) (C), {(A), (E) (B)

(3)  (A) (C), (B), (D)

(4 (<) (A (B), (DY

Options :

485584158529. 1
485584158530. 2
485584158531. 3
485584158532. 4

Question Number : 803 Question Id : 48558439633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

f;;;gstign Key Details :
Key |Value

ICnmnrehenqinn IMCO |
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FFat S #i eaEs I & Tou Frefafaes =i 1 %0 9 =efem Fiie

(A) F= |
(B) I 37 32HH
(C) =T aTEgH!

(D) U B & Hedda § 2hEe

(E) 9= HeE A

= fau mo fasrei | 4 W S F = Fwia
(1) (C), (A), (D), (E), (B)

(2)  (C), (A), (E). (D). (B)

(3) (A (). (B). (E). (D)

(4) () (A) (B). (E). (D)

Options :

485584158529. 1
485584158530. 2
485584158531. 3
485584158532. 4

ﬂé‘seﬁ(t)ir‘.’s’% 1}{{1&{1&)(&&.&%%15%&15 IdN KS%%%%{%%%I&&% lgl’ll‘ﬂ)ﬁl é I_V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the sequence to convert raw footage into a hnished Him ?

(A) MNegative 1s used to print picture posifive

(BYy Exposed film is developed into picture negative

(€} Rushes are assembled m sequence to make rough cut and tmal cut
(D) Sound is added

(E) DMNegative is edited to the exact length of the edited positive to make picture positive
Choose the correct answer from the options given below :

(1) (B), (A}, (D), (C), (E) Only

(2) (Al (B}, {C). (D). (E) Cnly

(3) (B (A) (C), (D), {(E) Only

(4)  (B). (A), (D), (C), (E) Only
Options :

485584158533. 1
485584158534. 2
485584158535.3
485584158536. 4

Question Number : 804 Question Id : 48558439634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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AR e (1 Fa) i wirga firen d wiaffa s wad #m an 87
(&) Toeem vitsiza =i fuz =00 = o iz = w=@m T =m 1)

(B) UFIes T =) o ifeg 5 st fF o &1
(C) ‘T &2’ 3w T2 dan Hie & o gid whiEl w1 ww A gaitaa R s g

(D) & S wr &)

(E) T wifeies ar 07 & Torw wmifea witafza = 9ud o= % sm0n Smfze = wofes o s

Bl

i fou o Ferredi o & W = W =T it

(1) e (B), (A), (D), (). (E)
(2)  =HEE (A), (B), (O, (D), (E)
(3) = (B), (A), (C). (D), (B)
(4) (B, (A) (D), (©), (E)

Options :

485584158533. 1
485584158534. 2
485584158535. 3
485584158536. 4

Question Number : 805 Question Id : 48558439635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fositive ettects of Social Media on democracy are :
(A} Transparency and Accountability

(B} Inclusivity
(C}  Bridging the distance

(D} News stories quickly go viral leading to misinterpretation

(E) Informaton cocoon

Choose the correck answer from the ophions given below :

(1) (A) (B). (1) Only
(2) (B}, (). (D) Only
(3)  (A), (B), (C) Only
(4) (B}, (C), (E) Only

Options :
485584158537. 1

485584158538. 2
485584158539. 3
485584158540. 4

Question Number : 805 Question Id : 48558439635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

nia:
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FRds T YT wifEw & O e 2
(A) TRl ot SEweE

(BY e
(C) o1 =1 9

(D) [HMER f&FEm giE 9@ @ =W ¥ 9 Twm = 5 ga 91 9w g
(E) ¥ B

=4 e oo fasedi ¥ O |l 39 % 999 Sifa -

(1)  =REe (A, (B), (D)

(2) = (B), (C) (D)

(3)  FFE (A), (B), (O

(4) === (B), (O), (E)

Options :

485584158537. 1
485584158538. 2
485584158539. 3
485584158540. 4

Rgfgf)lr?sr:e lllrlrrllebef\l'golﬁh%ll(esltf&% Ing%éﬁ%%%?%ﬁl%l%sﬁtcl lgl;l‘ﬁrel:l ; I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprenension MCQ

Which editing transition shows instant stop in a running film 7
(1) Cut

(2)  Dissolve

(3)  Fade out

(4) Freeze

Options :
485584158541. 1

485584158542. 2
485584158543. 3
485584158544. 4

Question Number : 806 Question Id : 48558439636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

fret ynEES feen o TryE=g SRa0 qe =0y w5 Yo | T° FEl S g 7

(1) e
(2) T
(3 ¥4 @A

(4) STELA
Ovtions ; g collegedunias
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485584158541. 1

485584158542. 2
485584158543. 3
485584158544. 4

Question Number : 807 Question Id : 48558439637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Kev |Value

IComprehension IMCO

The theme of the book "1984" by George Orwell s :
(1) Sikh Riots

(2) Govermance

(3) Diplomacy

(4) Tropaganda

Options :
485584158545. 1

485584158546. 2
485584158547. 3
485584158548. 4

Question Number : 807 Question Id : 48558439637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MCQ

sta afrder g fofea 108y vas =1 A w27
(1) fed

(2) A
(3) Al
(4) ¥=IR

Options :

485584158545. 1
485584158546. 2
485584158547. 3
485584158548. 4

Question Number : 808 Question Id : 48558439638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ

Who invented the Cinematographe 7
(1) Edison

(2) Dickson

(3)  Lumiere Brothers

(4) John Grierson

Options :
485584158549. 1

% collegedunias
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485584158550. 2
485584158551. 3
485584158552. 4

Question Number : 808 Question Id : 48558439638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

TFAMa T s e
(1) |11|.§:!:|-:

(2) fe=md

(3) FHET g

(4) =7 fegse

Options :

485584158549. 1

485584158550. 2
485584158551. 3

485584158552. 4

Question Number : 809 Question Id : 48558439639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
ompr ehension MCUQ

Unicast refers to be :

(1} One-way Communication
(2) Two-way Communication
(3} External Communication
(4) Internal Communication

Options :
485584158553. 1
485584158554.2

485584158555. 3
485584158556. 4

Question Number : 809 Question Id : 48558439639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘et HEy R R 7
(1) U TF HAR

(2) I TR HEN

(3) e HEn

(4) TR H=R

Options :

% collegedunias
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485584158553. 1
485584158554. 2

485584158555. 3
485584158556. 4

Question Number : 810 Question Id : 48558439640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compretension MCQ

Match List - 1 with List - 11
List - 1

(A) Magic Bullet Theory

(B) Tersenal Influence Theory

(€} Mass Audience Theory

(D} Uses and Gratifications Theory

(1) (A, (B)-{II), (C)-(IV*) (D)-(T)
(2)  (A)-(ID). (B)-(II), (C)-(IV). (D)-(T)
(3) (AT, (B)-(T), (C)-(TV), (DH(IN)
(4)  (AJ-(IIL, (B-IV), (C)-(1D), (D)-(1)

Options :

485584158557. 1
485584158558. 2
485584158559. 3
485584158560. 4

Paul Lazarsfeld
Elihu Katz
Harold Lasswell
Herbert Blumer
Choose the correct answer from the options given below :

Question Number : 810 Question Id : 48558439640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

et - 1% Ty g - 1 F e il

-1
(A) TfeF Toie =i
(B) e IHIEH
(C) WM Affess
(D) J=iA UE TR =

o 1 B B

(1) Eies dlgad

(IV) &2 =W

1< feu mo e O O W T F1 w5 il

(1) (AL, (BRI, (©-(1V*) (D)-(1)
(2) (A B)-(), (O)-{IV). (D))
(3)  (AMIID, (B)-(I), (C)-(IV), {D)-(1T)
(4)  (A)IID. (B)-(IVY, (C)-(10). (D)-(T)

Options :
485584158557. 1

485584158558. 2
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48558415¥855Y. 3
485584158560. 4
gseg(t)lrtl)sne Q}lllﬁlge&ﬁ]f,h%qgsﬂ% IdNislé/E%%?l%nllgsl{f‘fltclg%Eﬂﬁn é I}/IOCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Chrson Welles is the author/ seriptwriter of the famous radio play -
(1) War of the Worlds

(2) War in Nazi Germany

(3)  War of the Super Powers

(4) Cold War

Options :
485584158561. 1

485584158562. 2
485584158563. 3
485584158564. 4

Question Number : 811 Question Id : 48558439641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

frm wiog el s % 95/ 25y Fus @uH 979 87
(1) &F % 7 i

(2) &N 5 A A

(3) AW IATF T g9 TEH

(4) TS AW

Options :

485584158561. 1
485584158562. 2
485584158563. 3
485584158564. 4

Question Number : 812 Question Id : 48558439642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key |Value I
|u)mp1 chension |1v1ug I

The full torm of VOIP 15 :

(1] Violce of [nternatiomal Protocol

(2) Voice of Internet Power
(3)  Voice Over Internet Protocol
(4) Woice Over Intermal Protocol

Options :
485584158565. 1

485584158566. 2
485584158567. 3 .
% collegedunias
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485584158568. 4

Question Number : 812 Question Id : 48558439642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

VOIP &1 90 T8%Y 31 &
(1y =198 HATF ST SRl

(2y EigE #TF o U
(3) afE3 e =T W
(4) TR A ET TS WEEE

Options :
485584158565. 1

485584158566. 2
485584158567. 3
485584158568. 4

Question Number : 813 Question Id : 48558439643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Which ot the tollowing s not an acceptable audio aspect ot a shot ?
(1) Speech

(2) Sound ettect

(3 Silence

(4) DNoise

Options :

485584158569. 1
485584158570. 2
485584158571.3
485584158572. 4

Question Number : 813 Question Id : 48558439643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key |Value |
|Luulpl chension |1V1LQ |

Freffofias o § fE-m fawE & v wier g=1 986 = 27
(1) s
(2) =AM 9HE

(3) HF

(4) ¥R

Options :

485584158569. 1
485584158570. 2 .
collegedunias
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485584158571.3
485584158572. 4

Question Number : 814 Question Id : 48558439644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - T with List - 11

List - 1 List = [1
(A} Vijaya Vauhini (I TPune
(B) DMNew Theatres (11} Mumbai
(C}  Bombay Talkies {ITIy Chennai
(D} Prabhat Studio {TV} Kolkata

C;'I‘l:l{'lﬁﬂ H'H.' Eﬂl'l'L'El.' It S Wer {]"l'.l]Tl ﬂ'll_" I!llell'_i.l::ll'IFi- E:i".-'t""l'l |.'|~L'|.1':|1|-"r' i
(1) (AIV), (BI-(IID), (C)-(T), (D)-(IT)
(2) (AN, (B)-(IV), (C)-(IIT), (D)-(1)
(3)  (AIV). (B)-(IID), (C)-{I1), (D)-(1)
(4) (AN, B)-(IV), (C)-(11), (D)D)

Options :

485584158573. 1
485584158574.2
485584158575.3

485584158576. 4

Ré‘seﬁﬁlﬁ’é‘e N.}lnlglg)e&.glflhgﬂ(es[tl]&ne I%iﬁéﬁ%‘l‘%glﬁ‘x‘l‘tl%gle‘ﬁtclﬁggﬂ& é I:V{]CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T - 1% T g - 11 =1 e &ifa )
T - 1 Tt - 11

(A) faorg =rfe n o
(By = 9zZH (I =%
(C) Wi 2T (1) =#Tg
(D} wvR =i (V) FTesm

1< feu 7 faseedi 5 O Tl 0 %1 =95 Hifaw
(1) (AHIV), (B)-(II), (C)-(1). (D))
(2) (A1), (B)-(IV), (C)-(1), (D)-{T}
(3)  (A)-IV), (B)-(III), (C)-{I1). (D)-{T)
(4) (A)-III), (BHIV). (C)-(I0). (D)-{T}

Options :
485584158573. 1
485584158574.2

485584158575. 3
485584158576. 4 QCOHEgEdUI‘IIaE
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Question Number : 815 Question Id : 48558439645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MCQ

Lirme] Fielden was the bfirst Director-General of :
(1) BBC
(2)  All India Radic
(3 Voice of America
(4) Doordarshan
Options :
485584158577. 1
485584158578. 2

485584158579. 3
485584158580. 4

Question Number : 815 Question Id : 48558439645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
g™ Hires s 5YY Herfeves 9 7
(1) =L=LHL

(2) &\ 3frea =
(%) HigE #w st
(4) I

Options :
485584158577. 1
485584158578.2

485584158579. 3
485584158580. 4

é‘seﬁ(t)‘ﬁ’s‘% lalylglgje&, X‘ﬁ%‘lﬁt}&% I%Xﬁéﬁﬁ‘l’%ﬁ‘,‘,ﬁ%‘ﬁﬁ%&&?ﬂ& i I:V{)CQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Compretension MCQ

[dentity the news paper which is NOT a tabloid in its format and contents ;
(1] 'I'c:-.la:.'
(2)  DMid-Day
(3) The Asian Age
(4) The Mumbai Mirror
Options :

485584158581. 1
485584158582. 2
485584158583. 3
485584158584. 4

% collegedunias

India’s largest Student Review Platform




Question Number : 816 Question Id : 48558439646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T4 STEEN F1 TEit S wide o favgas % fum 4 etz R
(1) =2
(2) fo=-z
(3) = U UH
(4) =73 fam
Options :

485584158581. 1
485584158582. 2
485584158583. 3
485584158584. 4

Question Number : 817 Question Id : 48558439647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

[dentity the item which is written in a light vein on the Editorial Page :
(1) Letters to the Edibor
(2) Leader Article
(3) Special Article
(4) DMiddle
Options :
485584158585. 1
485584158586. 2

485584158587. 3
485584158588. 4

Question Number : 817 Question Id : 48558439647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MUTQ

T4 U i TedlA0 S TeeE U6 W ged e o o e
(1) HI=F F 7 9o

(2) S HE

(3) Tavmg A

(4y fa=m

Options :
485584158585. 1
485584158586. 2
485584158587. 3
485584158588. 4 .
% collegedunias
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Question Number : 818 Question Id : 48558439648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key |Value |
|u)mp1 chension |1V1LQ |

The tirst live-televised war of the world was ;
(1) J‘ﬁlr:ﬁ] War

(2) Gult War I

(3} Vietnam War

(4) Russo-Ukraine War

Options :
485584158589. 1

485584158590. 2
485584158591. 3
485584158592. 4

Question Number : 818 Question Id : 48558439648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Vatue
Comprehension MCQ

et 1 T woiiE fava = vy g FE-m o ?
(1) =RAE 13

(2) wEIE

(3) feEm g3

(4) FE-TH G

Options :

485584158589. 1
485584158590. 2
485584158591. 3
485584158592. 4

Question Number : 819 Question Id : 48558439649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which amongst the following is not a type of lense 7
(1) Wide angle

(2) MNormal

(3)  Telephoto

(4) Teleprompter

Options :
485584158593. 1
485584158594. 2

485584158595. 3
485584158596. 4

% collegedunias
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Question Number : 819 Question Id : 48558439649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

r!ggstign Key Details :
Key |Value |

Comprehension MCQ
| | |

Frfefas § @ FE-m o8 &1 9HE 7948 & 7
(1) =g o

(2) HHA

(3) e
(4) i
Options :

485584158593. 1
485584158594. 2

485584158595. 3
485584158596. 4

Question Number : 820 Question Id : 48558439650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - II
List - 1 List - 11
{(Name of Editing Tool) (Transition effect)
(A) Cut (I} Bar travels across the frame
(B) Wipe (I} Gradual increase in brightness leading to washout
(T} Bleach (I} Instantaneous replacement of shot
(D} Freoze {IV} Dramabic pause

Choose the correct answer from the options given below :
(1) (A)-(HI). (BT, (CHID, (D}HIV)

(2)  (AMLI. (BHID. (C)=(D, (DHIV)

(3) (AL, (BR), (O, (D)RIV)

(4) (AIV), (B)-(LLI), (C)-(I), (D)-(T)

Options :

485584158597. 1
485584158598. 2
485584158599. 3
485584158600. 4

Question Number : 820 Question Id : 48558439650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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T - 1 Wy g - 11 e wifm )
= - 1 Tl - 11

wures qfeA TEHTIT WU
(A) = () ¥ 5 FEE Tl 98
(By @TEY (I) =5 Y wiEF gig o F9AE & w00 9954 &
(C) == (rn)  fa9 & Feqm wiaesrs
(D} WA (IV) =g farm

Tt fau o fasedi § & o8 =9 1 =99+ #iffau
(1) (A)-III), (BT, (C)-(10), (DF{IV)
(2) (A, (B)-(ID), (C)-(1) (DRHIV)
(3)  (A)-(D), (BR(O), (O-(LI), (D}-(IV)
(4)  (A)-IV), (B)=(I1L), (C)-(I0), (D)-(I)

Options :

485584158597. 1
485584158598. 2
485584158599. 3
485584158600. 4

Question Number : 821 Question Id : 48558439651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

IKey |Value I
|u)1upwnension |Mu,g |
Match List - I with List - IIL
List - 1 List - 11
(Form of advertising) (Content and Objective)

(A} Public Service Advertising (1) FPersonal form of advertising
(B) Direct Mail (I} Competitive market

(C) Informational Advertising (IlII) Social awareness

(D) Comparative Advertisng (1Y) New product is introduced
Choose the correet answer from the options given below !

(1) (AI. (BR). (O, (TH-(IV)

(2) (A (B)-(I, {C-IV), (D)-0)

(3)  (ARD, BRL), (CF(IY), (D)-(H)

(4)  (A)-(IID), (B)-(I}, (C)-(IV), (D)-(W}

Options :
485584158601. 1
485584158602. 2

485584158603. 3
485584158604. 4

Question Number : 821 Question Id : 48558439651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details : .
collegedunias
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|Key [Value |
ILUulpl chension |1V1LQ I

et - 1% T g - 1L 3 e =i
=it - 1 et - 1

fasmos =1 wem Haw #i gy
(A) o Ha faare (1) Ty =1 S Eme
(B) &4l 5 () s =
(C) FFAH fEae (1) o e
(D) e T (IN) =1 3emg, Wi e = 2

A= Tew mo famregi o | wE = W =g e

(1) (A0, (BRI}, (C)-III), (D}{TV)
(2) (A=) (B)-(I), (C)-(IV). (D)-(T)
(3) (AL, (B}-(LL1), {C)-(IV), (D)-(1T)
(4)  (A)-IID, (B)-(I), (O-(IV), (D)-(1I)

Options :

485584158601. 1
485584158602. 2
485584158603. 3
485584158604. 4

Question Number : 822 Question Id : 48558439652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key |Value |
|L,uulp1 chension |1V1L,Q |

Identify the advantages of Radio Advertising :

(A} They deliver the message immediately

(B) They have very high frequency even in a single day
(C} It has a capbive audience

(D} It has a local appeal

(E) It is acostly but effective production

Choose the correct answer from the options given below :
(1) (Bl (C), (D), (E) Only

(2)  (A), (C), (D), (E) Only

(3)  (A). (D), (E) Only

(4) (A (B), (C), (D) Only
Options :

485584158605. 1
485584158606. 2
485584158607. 3
485584158608. 4

Question Number : 822 Question Id : 48558439652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Read the following passage and answer the gquestion that follow :

In cinema, the way an actor's performance 15 presented matters a lot, unlike on stage, On
stage actor 15 the master of his/her own Furﬁ:rm.:‘mcl.-'., but not in cinema. Whether he/she is to be
presented in close up or long shot, in profile view or in a rontal view, what make up and costume
he/she is going to wear, how will he/she be lit up are various creative decisions that are taken by
the others and affect the quality of presentation of his performance.

Depending upon the character and genre of film making, actors are called as heroes, heroine,
villain, character actor, sidekick of the hero/heroin, the comedian /comedienne ete. These labels
indicate their importance and position in the story. Over the years Indian mainstream cinema has
set pattern of story telling with stock characters and situations, hence their heirarchical system
prevailed. The basic difference between an actor and a star is that an actor is known [or his/her
a.{:tin]_.: abiﬁl':,', whereas a star 15 F:‘irrur'r]_',.' known For the ap}'leu] of his persona ﬁh,'- Actor 15 r:il]:ral:ﬂr!
of playing variety of roles, whereas star usually plays himself. Indian film industry is very star driven,

A popular star is considered a safe proposiion and attracts financiers, During his hey days
every star commands a certain audience that will come and watch the film tor him/her.

A Hlm actor 15 special kind of a human being. Actors give life to a characters dreamt by the
writer and directors. Audience form strong emotional connection with them.

In which kind of situaton an actor will have more control on his/ her performance ?
(1) Small Screen
(2) Cinemna
(3) Theater
(4) Comedy
Options :
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Read the following passage and answer the question that follow :

In cinema, the way an actor's performance 15 presented matters a lot, unlike on stage. On
stage actor is the master of his/her own performance, but not in cinema. Whether he/she is to be
presented in close up or long shot, in profile view or in a rontal view, what make up and costume
he/she is going to wear, how will he/she be lit up are various creative decisions that are taken by
the others and attect the quality of presenfation of has performance.

Depending upon the character and genre of film making, actors are called as heroes, heroine,
villain, character actor, sidekick of the hero/heroin, the comedian /comedienne ot These labels
indicate their importance and position in the story. Over the years Indian mainstream cinema has
set pattern of story telling with stock characters and situations, hence their heirarchical system
prevailed. The basic difference between an actor and a star is that an actor is known for his/her
acting ability, whereas a star s primarily known for the appeal of his persenality. Actor 1s capable
of playing variety of roles, whereas star usually plays himself. Indian film industry is very star driven,

A popular star is considered a safe proposiion and attracts financiers, During his hey days
every star commands a certain audience that wiall come and watch the flm tor him/ her.

A Hlm actor 15 special kind of a human being. Actors give life to a characters dreamt by the
writer and directors. Audience form strong emotional connection with them.

Which amongst the following does not contribute in presentation of performance in cinema ?
(1) Camera angle

(2) Make up

(3) Costume

(4) Stardom

Options :
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485584158627. 3
485584158628. 4
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Read the following passage and answer the question that follow :

In cinema, the way an actor's performance 15 presented matters a lot, unlike on stage. On
stage actor is the master of his/her own performance, but not in cinema. Whether he/she is to be
presented in close up or long shot, in profile view or in a rontal view, what make up and costume
he/she is going to wear, how will he/she be lit up are various creative decisions that are taken by
the others and attect the quality of presenfation of has performance.

Depending upon the character and genre of film making, actors are called as heroes, heroine,
villain, character actor, sidekick of the hero/heroin, the comedian /comedienne ot These labels
indicate their importance and position in the story. Over the years Indian mainstream cinema has
set pattern of story telling with stock characters and situations, hence their heirarchical system
prevailed. The basic difference between an actor and a star is that an actor is known for his/her
acting ability, whereas a star s primarily known for the appeal of his persenality. Actor 1s capable
of playing variety of roles, whereas star usually plays himself. Indian film industry is very star driven,

A popular star is considered a safe proposiion and attracts financiers, During his hey days
every star commands a certain audience that wiall come and watch the flm tor him/ her.

A Hlm actor 15 special kind of a human being. Actors give life to a characters dreamt by the
writer and directors. Audience form strong emotional connection with them.

Actors are called sidekicks because -

(1) of the positioning of character in the film
(2) the_g-' are ot stars

(3) they are capable of palyving various roles
(4) of their appeal as a personality

Options :
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Read the following passage and answer the gquestion that follow :

In cinema, the way an actor's performance 15 presented matters a lot, unlike on stage, On
stage actor 15 the master of his/her own Furﬁ:rm.:‘mcl.-'., but not in cinema. Whether he/she is to be
presented in close up or long shot, in profile view or in a rontal view, what make up and costume
he/she is going to wear, how will he/she be lit up are various creative decisions that are taken by
the others and affect the quality of presentation of his performance.

Depending upon the character and genre of film making, actors are called as heroes, heroine,
villain, character actor, sidekick of the hero/heroin, the comedian /comedienne ete. These labels
indicate their importance and position in the story. Over the years Indian mainstream cinema has
set pattern of story telling with stock characters and situations, hence their heirarchical system
prevailed. The basic difference between an actor and a star is that an actor is known [or his/her
a.{:tin]_.: abiﬁl':,', whereas a star 15 F:‘irrur'r]_',.' known For the ap}'leu] of his persona ﬁh,'- Actor 15 r:il]:ral:ﬂr!
of playing variety of roles, whereas star usually plays himself. Indian film industry is very star driven,

A popular star is considered a safe proposiion and attracts financiers, During his hey days
every star commands a certain audience that will come and watch the film tor him/her.

A Hlm actor 15 special kind of a human being. Actors give life to a characters dreamt by the
writer and directors. Audience form strong emotional connection with them.

Which is not a characteristic of a star ?
(1) Star attracts financier

(2) Star always plays vanety of moles
(3) Star usually plays himself

(4) Star commands a certain audience

Options :
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Read the following passage and answer the question that follow :

In cinema, the way an actor's performance 15 presented matters a lot, unlike on stage. On
stage actor is the master of his/her own performance, but not in cinema. Whether he/she is to be
presented in close up or long shot, in profile view or in a rontal view, what make up and costume
he/she is going to wear, how will he/she be lit up are various creative decisions that are taken by
the others and attect the quality of presenfation of has performance.

Depending upon the character and genre of film making, actors are called as heroes, heroine,
villain, character actor, sidekick of the hero/heroin, the comedian /comedienne ot These labels
indicate their importance and position in the story. Over the years Indian mainstream cinema has
set pattern of story telling with stock characters and situations, hence their heirarchical system
prevailed. The basic difference between an actor and a star is that an actor is known for his/her
acting ability, whereas a star s primarily known for the appeal of his persenality. Actor 1s capable
of playing variety of roles, whereas star usually plays himself. Indian film industry is very star driven,

A popular star is considered a safe proposiion and attracts financiers, During his hey days
every star commands a certain audience that wiall come and watch the flm tor him/ her.

A Hlm actor 15 special kind of a human being. Actors give life to a characters dreamt by the
writer and directors. Audience form strong emotional connection with them.

An actor is a person who kranslates the ideas of the
(1) Writer and Director

(2} Audience

(3} TProducer

(4) Make up artist
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Read the following passage and answer the gquestion that follow :

Today's age can be redefined as another ICE Age. The tull form of ICE is Intormation,
Communication and Entertainment. From the era when people could only talk to each other
through Hirst hand experience to today's era when we can talk and look at any one from almost all
corners of the world. Earlier, 1nfm'mr1t|tm has bevn a anﬂedﬂu denied to the masses 81l the E.drf'l.-'
part of twentieth century. The world has shrinked to a “global village’. Today the spread of mass
rmedia has |.=1r1..r:*l'.' removed the cause of L'umtzlidmt as far as the availa I:I'Ill.h.-' of channels for ":F‘-lﬂi*dd
of information are concerned,  But the question remains about the quﬂhhf and efficiency of the
information, but there is no doubt that media and their capacity oof creabing and sharing, information
in many ways has important political and humanist dimensions.

Information Technolopgy has changed the paradipgm.  Internet has empowered an individual
to post data and receive information. It also opens variety of sources for one information. Not
only in the field of information, the paradigm shift can also be witnessed in dissemination of
information too. Distribution of the information between individual on an unprecedented global
scale, rapidity of opinion generation on a local, national and global scale can be witnessed. The
socio-political implications of the new mtormation order has strengthened the democracy by
providing public space for the widespread debate.

Information technology has contributed in democracy by
(1) Shrinking the world to global village
(2) Tosting date
(3} Access to talk from remote areas
(4) Providing Public Sphere
Options :
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Read the following passage and answer the gquestion that follow :

Today's age can be redetined as another ICE Age, The tull form of ICE is Intormation,
Communicabion and Entertainment. From the era when people could only talk to each other
through first hand experience to today s era when we can lalk and look at any one from almost all
corners of the world, Earlier, information has been a priviledge denied to the masses tll the early
part of twentieth century. The world has shrinked to a “global village’. Today the spread of mass
media has |.=1rhr:rl'." n!'m.r.:-'.red the cause of Lumpidlnt as far as the availa |:l-|th,' »1:-1'- channels for ":-E'I]'E".:ld
of information are concerned.  But the question remains about the quﬂhh’ and etficiency of the
information, but there is no doubt that media and their capacity oof creabing and sharing information
in many ways has important political and humanist dimensions,

Information Technolopgy has changed the paradipgm.  Internet has empowered an individual
to post data and receive information. It also opens variety of spurces for one information. Not
only in the field of information, the paradigm shift can also be witnessed in dissemination of
information too, Distribution of the information between individual on an unprecedented global
scale, rapidity of opinion generation on a local, national and global scale can be witnessed. The
socio-political implications of the new mbtormation order has strengthened the democracy by
providing public space for the widespread debate.

What is meant by "Global Village® ?

(1) Global issues can be felt at village level

(2) Village issues are dealt at global level

(3} Informabion revolubion has increased the accessibility
(4) Priviledge of information is denied to villagers

Options :
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485584158647. 3
485584158648. 4
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Read the following passage and answer the gquestion that follow :

Today's age can be redefined as another ICE Age. The tull form of ICE is Intormation,
Communication and Entertainment. From the era when people could only talk to each other
through Hirst hand experience to today's era when we can talk and look at any one from almost all
corners of the world. Earlier, 1nfm'mr1t|tm has bevn a anﬂedﬂu denied to the masses 81l the E.drf'l.-'
part of twentieth century. The world has shrinked to a “global village’. Today the spread of mass
rmedia has |.=1r1..r:*l'.' removed the cause of L'umtzlidmt as far as the availa I:I'Ill.h.-' of channels for ":F‘-lﬂi*dd
of information are concerned,  But the question remains about the quﬂhhf and efficiency of the
information, but there is no doubt that media and their capacity oof creabing and sharing, information
in many ways has important political and humanist dimensions.

Information Technolopgy has changed the paradipgm.  Internet has empowered an individual
to post data and receive information. It also opens variety of sources for one information. Not
only in the field of information, the paradigm shift can also be witnessed in dissemination of
information too. Distribution of the information between individual on an unprecedented global
scale, rapidity of opinion generation on a local, national and global scale can be witnessed. The
socio-political implications of the new mtormation order has strengthened the democracy by
providing public space for the widespread debate.

Information revoluton has led to which concerns ?
(1) Excess data usage

(2) Queﬂit}' and Et'l"ic'a-;.}-' of intormakiorn

(3}  Informabion has elements of entertainment

(4) Signal issues

Options :
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Read the following passage and answer the gquestion that follow :

Today's age can be redefined as another ICE Age. The tull form of ICE is Intormation,
Communication and Entertainment. From the era when people could only talk to each other
through Hirst hand experience to today's era when we can talk and look at any one from almost all
corners of the world. Earlier, 1nfm'mr1t|tm has bevn a anﬂedﬂu denied to the masses 81l the E.drf'l.-'
part of twentieth century. The world has shrinked to a “global village’. Today the spread of mass
rmedia has |.=1r1..r:*l'.' removed the cause of L'umtzlidmt as far as the availa I:I'Ill.h.-' of channels for ":F‘-lﬂi*dd
of information are concerned,  But the question remains about the quﬂhhf and efficiency of the
information, but there is no doubt that media and their capacity oof creabing and sharing, information
in many ways has important political and humanist dimensions.

Information Technolopgy has changed the paradipgm.  Internet has empowered an individual
to post data and receive information. It also opens variety of sources for one information. Not
only in the field of information, the paradigm shift can also be witnessed in dissemination of
information too. Distribution of the information between individual on an unprecedented global
scale, rapidity of opinion generation on a local, national and global scale can be witnessed. The
socio-political implications of the new mtormation order has strengthened the democracy by
providing public space for the widespread debate.

Which paradigm shifts are wilnessed in the age of information ?
(1) Access and dissemination of information
(2} low data
(3) Excess speed of internet
(4) The weakining of democracy
Options :

485584158653. 1
485584158654. 2
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485584158656. 4
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Read the following passage and answer the gquestion that follow :

Today's age can be redetined as another ICE Age, The tull form of ICE is Intormation,
Communicabion and Entertainment. From the era when people could only talk to each other
through first hand experience to today s era when we can lalk and look at any one from almost all
corners of the world, Earlier, 1nfm'mrll:|tm has bevn a anﬂedﬂu denied to the masses Gl the Edrf:.-'
part of twentieth century. The world has shrinked to a “global village’. Today the spread of mass
media has |.=1rhr:rl'." n!'m.r.:-'.red the cause of Lumpidlnt as far as the availa |:l-|th,' »1:-1'- channels for ":-E'I]'E".:ld
of information are concerned.  But the question remains about the quﬂhh’ and etficiency of the
information, but there is no doubt that media and their capacity oof creabing and sharing information
in many ways has important political and humanist dimensions,

Information Technolopgy has changed the paradipgm.  Internet has empowered an individual
to post data and receive information. It also opens variety of spurces for one information. Not
only in the field of information, the paradigm shift can also be witnessed in dissemination of
information too, Distribution of the information between individual on an unprecedented global
scale, rapidity of opinion generation on a local, national and global scale can be witnessed. The
socio-political implications of the new mbtormation order has strengthened the democracy by
providing public space for the widespread debate.

What is not correct in reference to information revolubon 7
(1) Easy availability of channels

(2) Easy Access o information

(3) Capacity of sharing information

(4) Access denied to the privileged

Options :
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